





Electromagnetism #2
FORCE ON A CURRENT CARRYING CONDUCTOR — EXAMPLES

il A wire carries a steady current of 2.40 A. A straight section of the wire is 0.750 m long and lies
along the East-West axis within a uniform magnetic field of magnitude 1.60 T pointing upwards
direction. If the current is in an Easterly direction, calculate the force exerted on the section of wire.
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2. A wire of 2.80 m in length carries a current of 5.00 A in a region where the magnetic field has a

magnitude of 0.390 T. Calculate the magnitude of the magnetic force on the wire if the angle
between the magnetic field and the current is 60.0°.
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